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R4/9 26 129 14 26 805 7 402 3 129 141 6 0 11 0 0 0 0 0 92 15 6 31 16 4 0 1,863
R4/10 0 135 23 72 677 28 316 3 101 131 1 0 8 1 2 0 0 1 64 21 6 24 15 2 1 1,632
R4/11 10 174 29 80 836 57 321 3 99 145 5 0 13 2 4 0 0 0 75 19 12 23 16 5 3 1,931
H R4/12 417 140 38 36 1,591 45 204 4 111 143 10 0 13 0 0 0 0 0 75 25 6 19 20 3 1 2,901
il R5/1 2,551 201 24 23 1,215 15 52 0 87 74 7 0 16 2 1 0] 0 0 66 20 8 37 27 2 0 4,428
B R5/2 3,060 222 37 45 1,289 15 24 0 76 106 8 0 12 0 1 0 0 0 70 15 9 24 25 3 0 5,041
% R5/3 2,566 216 68 63 1,222 15 8 0 97 224 7 0 8 1 3 1 0 0 81 29 8 23 26 2 0 4,668
fE R5/4 482 84 a1 74 832 12 26 0 96 442 15 0 19 0 2 0 0 0 66 23 10 14 15 0 0 2,253
gﬂl R5/5 790 536 118 76 123 1,184 19 46 2 118 307 19 0 9 1 1 0 0 0 74 15 7 19 27 3 0 3,494
R5/6 1,049 | 2,685 438 107 300 2,223 14 114 4 137 549 17 0 18 0 1 0 0 0 76 25 9 23 29 2 0 7,820
R5/7 2,259 | 5,970 693 90 179 1,138 31 268 1 103 792 17 1 13 0 1 0 0 0 69 24 9 20 16 2 0 11,696
R5/8 1,188 | 7,128 467 84 234 1,104 35 515 3 93 598 24 0 14 1 3 0 0 0 90 20 10 28 27 10 0 11,676
R5/9 3,116 | 4,661 101 186 334 1,044 19 569 9 78 277 12 0 21 0 2 0 0 0 73 24 10 23 28 1 1 10,589
_Fm H ke 2.6 0.7 0.2 2.2 1.4 0.9 0.5 1.1 3.0 0.8 0.5 0.5 - 1.5 - 0.7 - - -1 0.8 1.2 1.0 0.8 1.0 0.1 - 0.91
ﬁﬁﬂi [A] ﬁ I e 119.8 - 0.8 13.3 12.8 1.3 2.7 1.4 3.0 0.6 2.0 2.0 - 1.9 - - - - -1 08 1.6 1.7 0.7 1.8 0.3 - 5.68
REA 42.08 | 46.92 1.88 2.63 10.06 9.50 0.19 12.13 0.44 1.63 475 0.31 0.00 420 0.00 0.20 0.00 0.00 0.00 8.3 2.5 1.2 2.7 2.6 0.2 0.0
® 1LEE 12.00 | 24.67 0.50 1.50 0.00 450 0.00 12.00 0.00 0.00 1.50 0.00 * * 0.00 0.00 0.00 0.00 0.00 * * * * 2.0 0.0 0.0
fi2 %ith 59.00 | 51.75 4.40 4.20 9.00 62.60 2.00 28.60 0.20 3.00 | 15.20 0.60 0.00 0.00 0.00 0.00 0.00 0.00 0.00 2.5 1.0 0.5 0.0 0.0 0.0 0.0
;)E [ 8.67 | 41.67 0.00 0.00 0.00 3.00 0.00 0.00 0.00 0.00 0.00 0.00 * * 0.00 0.00 0.00 0.00 0.00 * * * * 4.0 0.0 0.0
E fEI A 1240 | 23.40 0.67 2.67 6.00 19.00 0.33 7.00 0.00 1.00 0.67 0.00 * * 0.00 0.00 0.00 0.00 0.00 4.0 0.0 0.0 1.0 0.0 0.0 0.0
=1
él JAN A 12.00 | 57.43 4.25 2.50 3.50 21.75 0.50 7.50 0.00 2.25 7.25 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 3.0 2.0 0.0 0.5 0.0 0.0 0.0
Y IKIE 22.00 | 45.67 1.00 | 10.00 2.50 1.00 0.00 1.50 0.50 0.00 2.50 0.50 * * 0.00 0.00 0.00 0.00 0.00 * * * * 1.0 0.0 1.0
%Z = 21.60 | 89.40 0.33 0.00 0.67 5.67 0.33 10.00 0.00 1.33 0.67 0.00 * * 0.00 1.00 0.00 0.00 0.00 0.0 0.0 0.0 0.0 5.0 0.0 0.0
& AH 67.13 1108.88 4.00 6.80 9.40 53.20 0.00 15.80 0.00 2.80 9.40 0.60 0.00 0.00 0.00 0.00 0.00 0.00 0.00 1.0 1.0 0.5 1.5 1.0 0.0 0.0
=]
%‘& FIR 61.00 | 76.33 0.50 2.75 9.75 32.75 0.50 9.25 0.00 1.00 4.00 0.00 * * 0.00 0.00 0.00 0.00 0.00 6.0 1.0 1.0 2.0 0.0 0.0 0.0
KE 43.86 | 63.29 1.00 9.25 0.75 1.00 0.00 2.00 0.00 0.75 5.25 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0 0.0 0.0 0.0 2.0 0.0 0.0
EH 38.95 | 58.26 2.02 3.72 6.68 20.88 0.38 11.38 0.18 1.56 5.54 0.24 0.00 2.33 0.00 0.13 0.00 0.00 0.00 46 1.5 0.6 1.4 1.9 0.1 0.1
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